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Plot the points whose polar coordinates are given.

(a)

(b)

(1, 57/4)

(2, 3m)

(2, —27/3)

(—3, 37/4)
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Example 2 (—.

Convert the point (2, «/3) from polar to Cartesian coordinates. |
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Example 3

Represent the point with Cartesian coordinates (1, —1) in terms of polar coordinates.
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What curve 1s represented by the polar equationr =27
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Example 7

Sketchthecurver =1+ sin 8.




Example 8

Sketch the curve r = cos 290.






Example 1 ’ /,rr ’
Find the area enclosed by one loop of the four-leaved rose r = cos 26 %’
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Example 2

Find the area of the region that lies inside the circle r = 3 sin @ and outside the cardioid
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Example 4

Find the length of the cardioid r = 1 + sin . L

)
(=Cos &

S\Q ,W\ ) (l AN @\2 b (cos )







Example 5

dy dr

(a) For the cardioid r = 1 + sin # of Example 4, find the slope of the tangent line — — sinf+rcos#
dy 48 df

when 8 = »/3 . — = —

dx dx dr
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(h) Find the points on the cardioid where the tangent line 1s horizontal or vertical. df df
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